SOLVING TRIG EQUATIONS $(2\sin x)^{2} = (1 - 2\cos x)^{2} = [0, 360^{\circ})$

$$4\sin^2 x = (1-2\cos x)(1-2\cos x) \qquad \sin^2 x + \cos^2 x = 1$$

$$4\sin^2 x = 1 - 2\cos x - 2\cos x + 4\cos^2 x$$

$$4(1-\alpha^2x) = 4\alpha s^2x - 4\alpha s x + 1$$

$$4-4\omega s^2 x = 4\omega s^2 x - 4\omega s x + 1$$

$$E - x \cos y - x^{5} \cos \theta = 0$$

$$\cos x = \frac{4 + \sqrt{16 - 4(8)(-3)}}{2(8)}$$

$$\cos x = 0.911$$

$$X = 0.911$$
 Cos $X = -0.411$ $X = 65.7$

Cakulator!

$$2 \sin X \mid X = 24.3$$

$$1-2\cos x/x=24.3$$

- Use identitaties When:

 Different angles (x, 2x, 2)

 Different trig functions

Sin
$$X - \sin 2X = 0$$
 [D₁2 π]

Double angle!

Sin $X - 2\sin x\cos x = 0$

Sin $X - \left[-2\sin^2 x \right] = 0$

Sin $X - \left[-2\cos x \right] = 0$

Sin $X - \left[-2\cos x \right] = 0$

Sin $X - \cos 2x = 0$

Sin $X - \cos 2x$

$$SIN X = \cos \frac{x}{2} \qquad \left[0^{\circ}, 360^{\circ}\right)$$

$$SIN^{2} = \frac{1 + \cos x}{2}$$

$$SIN^{2} X = \frac{1 + \cos x}{2}$$

$$2 - 2\cos^{2}X = \frac{1 + \cos x}{2}$$

$$2 - 2\cos^{2}X + \cos x - 1$$

$$0 = (2\cos x - 1)(\cos x + 1)$$

$$2\cos x - 1 = 0 \quad \cos x + 1 = 0$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\sin x = \cos x + 1$$

$$\sin x = \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\sin x = \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\sin x = \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\cos x = \frac{1}{4} \quad \cos x + 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = \cos x + 1$$

$$\cos x = 1$$

$$\sin x = 1$$

$$\sin x = 1$$

$$\cos x = 1$$

$$\sin x = 1$$

$$\sin x = 1$$

$$\cos x = 1$$

$$\sin x = 1$$

$$\cos x = 1$$

$$\sin x = 1$$

$$\sin x = 1$$

$$\cos x = 1$$

$$\sin x = 1$$

$$\cos x$$

$$d\cos^{2} 3\theta + 3\cos 3\theta + 1 = 0 \qquad \theta = [0^{\circ}, 360^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta + 1)(\cos 3\theta + 1) = 0 \quad \text{If:} \quad 3\theta = [0^{\circ}, 1080^{\circ})$$

$$(2\cos 3\theta +$$

$$2 \tan\left(\frac{x}{2}\right) + \sqrt{3} = -\tan\frac{x}{2}$$

$$+ \tan\left(\frac{x}{2}\right)$$

$$3 \tan\left(\frac{x}{2}\right) = -\sqrt{3}$$

$$\tan\left(\frac{x}{2}\right) = -\sqrt{3}$$

$$\tan\left(\frac{x}{2}\right$$